[image: image1.wmf]0

sin11.5sin35.06.596

y

mm

vv

ss

q

===

o

AP Physics – Newton’s Laws – 1

1. A rock is thrown at an angle of 35.0( to the horizontal with a speed of 11.5 m/s.  How far does it travel?
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2. A 450 kg mass is accelerated at 2.5 m/s2 .  (a) What is the force causing this acceleration?  (b) If the mass of the car is doubled, what happens to the acceleration? 
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   (b)  decreases by 2

3. How much does a 34.5 kg gymnast weigh?
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4. A 2500 kg car is pushed with a 250 N force, (a)  what is the acceleration acting on the car?  (b)  What is the car’s velocity at the end of 35 seconds?
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(b)   
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A ball rolls down the ramp onto a smooth table and then onto the deck as shown.  Find (a) the acceleration of the ball down the ramp and (b) the horizontal distance the ball travels when it falls off the table.
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(b) 
[image: image13.wmf](

)

2

2

2221.360.751.428

mm

vaxvaxm

s

s

æö

====

ç÷

èø

               


[image: image14.wmf](

)

2

2

20.92

12

0.4333

2

9.8

m

y

yatts

m

a

s

====



[image: image15.wmf](

)

1.4280.43330.619

x

m

xvtsm

s

===


6. [image: image25.wmf]0.855 m/s
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Okay, add these here vectors up and find the resultant.  Also find the angle it makes with the x axis.
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